TH6F12AFEAS BRELR

BRE BAEFBEERIEREHLE

B & A % & B H BE KR
TLooa—x fAE Mt XEBE 0157 b= %
MAYBLYBH A (FER fREHMmMEXREZE 0157 =
D—L(KEH) rEHMmEXEBE 0157 b= %
C A< (250g) fREHMmEXERE 0157 = %
F3aL—ro—L EHMEXEBE 0157 b= %
DEZAITHL(AYE) REHMEXERE 0157 = %
EAITHF—X (#lY]) 1ke fE M REEE 0157 = %
LY AIZ%< 400g fREHMEXEBE 0157 = %
DYDME(ER e MM REZE 0157 = %
DY DEE(10e)(ER g I KIZE 0157 = %
/\3—(H1§)450¢g g M KIZE 0157 = %
SYDF(EMD) fAEHmEXBE 0157 = &
SUDF(@DYAIDE) frEHMmEXEBE 0157 = %
SYMFEZR Ty M) fAEHmEXBE 0157 = &
SUMT(HYABE) frEHMmEXEBE 0157 = %
AYHT (FESF) fAEHmEXBE 0157 = &
TIR—XREAFLYI T GRER) fREHMmMEXREZEE 0157 b= %
S-Tqvia frEtmAEXBE 0157 b= 1%
3—%JLk(100ml) g M KIZE 0157 = %
YAZTD21—R frEtmAEXBE 0157 b= 1%
—O&XEX fREHmMEXREZEE 0157 b= %
1B Z5L (500g) frEtm4XEBE 0157 =




TH6F12AFEAS BRELR

BRE BAEFBEERIEREHLE

B & % % & B H BE®E
ZAYITAIZRL EHMmEXEBE 0157 b= %
RIAITRL(YR) fREHMmEXEEE 0157 = %
AFL(E) rEHMmEXEBE 0157 b= %
ATFL G fREHMmMEXREZE 0157 b=
NADEAE(Tg (BiR fAE Mt XEBE 0157 b= 1%
BMNEIXZ fREHMmMEXEZEE 0157 b=
HH<h fE LM REEE 0157 = %
6 < (EwEYIYIGRE) fREHMmMEXEZEE 0157 b=
FRHZ(ER fE M REEE 0157 = %
FHEEFN(ER fREHMmMEXBZEE 0157 b=
REV)—L(BEEHI) frEHMmEXEBE 0157 = %
BEHEENSIOvA fAEHmEXBE 0157 = &
BEAHZ(RR frEHMmEXEBE 0157 = %
25 fAEHmEXBE 0157 = &
BHAZ (BiR frEHMmEXEBE 0157 = %
BH&E (F(ER fAEHmEXBE 0157 = &
MARF—X g M KIZE 0157 = %
FX fAE Mt XBE 0157 = %
BX fREHMmMEXREZEE 0157 b= %
AEE)—(FLoY)60g (IR frEHMmEXEBE 0157 (=S
MEVAT—(HoUE) fREHmMEXREZEE 0157 b= %
MERIAVF—(hvk) fAE Mt XBE 0157 = %




TH6F12AFEAS BRELR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
RESTHIT huk) BEHMERBEE 0157 (=3
MREIEA g MM KIZE 0157 = %
ARSI —i (40g) rEHMmEXEBE 0157 b= %
mRyI—Y g M KIZE 0157 = %
ARIAOYT (IMRE) EHMEXEBE 0157 b= %
MESEVD fREHMmMEXBZEE 0157 b=
ARSI (A M) fE M REEE 0157 = %
ARSI (HIE)(30g) fREHmMEXBZEE 0157 b=
ARE(E (H1E)(40g) e MM REZE 0157 = %
ARSI (HIE-AY) fREHMmMEXEZEE 0157 b=
AREE (BE-AY) fAE Mt XBE 0157 b= 1%
mESHL (H1B)(30g) fAEHmEXBE 0157 = &
mRSHL (H1E)(40g) frEHMmEXEBE 0157 = %
mELLeE (15g) fAEHmEXBE 0157 = &
AELLet (18g) frEHMmEXEBE 0157 = %
AR 21—T1(18g) fAEHmEXBE 0157 = &
AR FETPE (30g) g M KIZE 0157 = %
mERL (HiE-AY) fAE Mt XBE 0157 = %
BEFEUNIN—Y (50g) g M KIZE 0157 = %
AEFF N IN—4 (60g) fAE Mt XBE 0157 = %
ARFIXUR—IL g MM KIZE 0157 = %
AEFER—IL(SS) frEtm4XEBE 0157 b= 1%




TH6F12AFEAS BRELR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AEBYHALHT EHMmEXEBE 0157 b= %
ARICALAEZL fREHMmEXEEE 0157 b=
AER—ay (hyk) fREHmMEXEBE 0157 b= 1%
BEIFESES g M KIZE 0157 = %
AERILRINL (FUR) EHMEXEBE 0157 b= %
WEIVF 7Y (60g) g I KIZE 0157 = %
AR fE M REEE 0157 = %
mEEH fREHmMEXBZEE 0157 b=
MERBMNEIT e MM REZE 0157 = %
AEBN(EDE-5ghvh) g I KIZE 0157 = %
AEBA(EDE-8ghvh) frEHMmEXEBE 0157 = %
MEBA(KDE-LH-5ghvh) fAEHmEXBE 0157 = &
MEBR(RDE-1E-8ghvh) fAE Mt XBE 0157 b= 1%
MEBA(KD2E-L1-10ghvh) fAEHmEXBE 0157 = &
MRBA(RDE-3H-15gHYh) frEHMmEXEBE 0157 = %
AEEBIT(E2) fAEHmEXBE 0157 = &
MEEZITEZ) AsT fREHMmMEXREZEE 0157 b= %
MAEREIT(RD) BEBTF fAE Mt XBE 0157 = %
AEEBIT(ED) (BEXE) fREHMmMEXREZEE 0157 b= %
MRS (H1R) (30g) fAE Mt XBE 0157 = %
AR (H18) (40g) fREHmMEXREZEE 0157 b= %
MR (HiE-AY) fAE Mt XBE 0157 = %




TH6F12AFEAS BRELR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
mEES fAE Mt XEBE 0157 b= 1%
MEREE (BEKRR) fREHMmMEXREZE 0157 b=
AR TR (MF)(50g) rEHMmEXEBE 0157 b= %
MERRREBL g M KIZE 0157 = %
AREF EHMEXEBE 0157 b= %
MRPER g I KIZE 0157 = %
MRERE fE M REEE 0157 = %
ARG (Fe) g I KIZE 0157 = %
MRER(K) e MM REZE 0157 = %
AEBKA (HE)3mm3 X 3ecm fREHMmMEXEZEE 0157 b=
AEBRA(O—R)3mm 3x 3 frEHMmEXEBE 0157 = %
mEBRRLL fAEHmEXBE 0157 = &
AEBKAELE (2 X 3cm) fAE Mt XBE 0157 b= 1%
AEBRRLY (A fAEHmEXBE 0157 = &
AR E (300g) frEHMmEXEBE 0157 = %
MEBEYXLT fAEHmEXBE 0157 = &




